## GOVERNMENT TENDER NOTICE

## Notice Inviting Tender Nos.110,111,112,113,114,115,116 & 117/SERI/PCR/MID(W)/2017-'18.

Sealed quotations are invited by the Executive Engineer, Directorate of Textiles (Sericulture). West Bengal, 45, Ganesh Chandra Avenue (2nd floor), Kolkata-13 for Constructional works in Paschim Medinipur district from the enlisted contractors of P.W.D. (Elec.). CB Directorate as well as from the bonafide experienced and resourceful outside contractors having experience

in such type of works in Govt. Department / Zilla Parishad.

TIN	Name of the Work.	: Estimated Cost .	Earnest	Place of	Time of
No.			Money	Work.	completion of work.
110	Repairing of Grainage Building at Debra Sericulture Complex. Paschim Medinipur under P.C.R.works.	Rs.4.73.267/- (Rupees four lakh seventy three thousand two hundred sixty seven)only.	Rs.11.835 - (Rupees eleven thousand eight hundred thirty five) only.	Debra Sericulture Complex, Paschim Medinipur.	I (one) month from the date of issue of Work Order.
111	Renovation of Toilet Block at Neguria Tasar Project Centre, Banspahari, Paschim Medinipu under P.C.R.	Rs.3.27,210/- (Rupees three lakh twenty seven thousand two hundred ten) only.	Rs.8.180/- (Rupees eight thousand one hundred eighty)only.	Neguria Tasar Project Centre. Banspahari, Paschim Medinipur.	-do-
112	Repairing of Office Building of the Deputy Director of Textiles(Sericulture), Paschim Medinipur under P.C.R.	Rs.3.44.522/- Rupees three lakh forty four thousand five hundred (wenty two) only.	Rs.8.615/- (Rupees eight thousand six hundred fifteen) only.	Office of the Deputy Director. Textiles (Seri.). Paschim Medinipur	-do-
113	Repairing of Cocoon Market Building at Debra Paschim Medinipur.undner P.C.R.	a. Rs.4.25.801- (Rupees four lakh twenty five thousand eight hundred one )only.	Rs.10.645 - (Rupees ten thousand six hundred forty five)only	Debra Cocoon Market Debra Paschim Medinipur	-40-
114	Repairing of Cocoon Market-cum-Office Building at Belpahari T.S.C., Paschim Medinipur, under P.C.R,	Rs.4.28.462/- (Rupees four lakh twenty eight thousand four hundred sixty (wo)only.	Rs.10.715'- (Rupees ten thousand seven hundred fifteen)only.	T.S.C., Belpahari, Paschim Medinipur,	-do-
115	Sanitary & Plumbing works with allied works for the existing Grainage Building at Debra, Paschim Medinipur under P.C.R.	Rs.4.23,.084 /- (Rupees four lakh twenty three thousand eighty four) only	Rs.10.580 - (Rupees ten thousand five hundred eighty) only.	Debra Sericulture Complex. Paschim Medinipur.	-do-
16	Annti-termite treatment for Cocoon Market Building at Debra in Paschim Medinipur under P.C.R. works.	Rs.70.937 - (Rupees seventy thousand nine hundred thirty seven)only.	Rs.1.775 (Rapees one thousand seven hundred seventy five) only.	Cocoon Market Complex, Debra Paschim Medinipur.	-do-
17.	Anti-termite treatment for the Office Building the Deputy Director of Textiles(Sericulture). Paachim Medinipur under P.C.R. works.	of Rs53.879/- (Rupees lifty three thousand eight hundred seventy nine)only.	Rs.1,350/- (Rupees one thousand three hundred fifty)only.	Office Building of the Deputy Director of Fextiles(Seri.). Paschim Medinipur	-do-

The quotation Papers (N.I.T., Schedule of Works, & Form: 2911(i/ii) etc.) may be obtained/downloaded from *seriwbgov.org* at free of cost. Duly filled quotation to be submitted/dropped in the Box kept at Head Quarters. Kolkata and papers should be arranged in the following manner.

financial year, (v) Credential for Similar nature of work at about 60% of Tender value) and the Pesticide License for N.I.T. Nos.116 & 117 respectively and E.M.D. Sealed.

Envelope - II, should be super scribed as Financial Bid for N.I.T.No....., Sl.No. of Work, Name of Agency and should contain filed on 2911 (ii) quoting in Rate both in figure and words, and Sealed.

2(two) Envelopes as noted above (I & II) should be put in a bigger Envelope and sealed. Agency should write clearly N.I.T. No..... Name of Work, SL. No. and Name of Agency on this Envelope and drop the same as per scheduled mentioned in this N.I.T.

Last date and time of submission of Tender	28-03-2018 at 3-00 P.M. at Headquarters, Kolkata.
Date of opening of Tender	28.03.2018 at 3-30 P.M. at Headquarters, Kolkata.

Technical Bid will be opened first. Financial Bid will be opened only if the Technical Bid is found acceptable.

Labour Cess will be deducted from Bill value as per Govt. Rules. All original copies are to be shown for verification. The details may be seen in the Office of the Commissioner of Textiles (Sericulture), West Bengal 45. Ganesh Ch. Avenue (2nd floor), Kolkata - 700 013 on any working days and in website: seriwbgov.org.

N.S.C./K.V.P. will not be accepted as Earnest Money. Only the Demand Draft / Bankers Cheque of a Nationalized Bank will be considered.

The Commissioner of Textiles (Sericulture), West Bengal reserves the right to reject/accept all the applications without showing any reasons thereof. If any date as above happens to be holiday the next working day will be considered as stipulated date. Acceptance of lowest Tender is not obligatory.

Notwithstanding anything contained in this N.I.T., the general and other terms and conditions will be binding upon all concerned.

Executive Engineer,
Directorate of Textiles(Scriculture),
West Bengal.

Memo.No: 4042 (3) Memo.No: 4042 (SNG/CIVIL/PCR/MID(W)/5 (Vol.-3),

Dated, 21 02/2018.

Copy forwarded for information & necessary action to :-

- 1. The Deputy Director of Textiles (Sericulture), Paschim Medinipur.
- 2. The Notice Board of this Directorate, Headquarters, Kolkata.

2. The Website of this Directorate of Textiles (Sericulture), West Bengal.

Executive Engineer,
Directorate of Textiles (Sericulture),
West Bengal.

Priced Schedule for the Sanitary and plumbing works with allied works for the grainage building at Debra Sericulture Farm, Debra, Midnapur (West) under PCR.

	Sericulture Farm, Debra, Midnapur ( W	est) und	der PCR.		
SI					
.no	Description of Work	Unit	Quantity	Rate	Amount
1	Supplying, fitting and fixing Anglo-Indian W.C. in white glazed vitreous china ware of approved make complete in position with necessary bolts, nuts etc.	Each	1.00	3287.00	3287.0
2	Supplying, fitting and fixing Orissa pattern water closet in white glazed vitreous chinaware of approved make in position complete excluding 'P' or 'S' trap (excluding cost of concrete for fixing).	Each	1.00	1613.00	1613.0
3	Supplying fitting and fixing cast iron 'P' or 'S' trap conforming to I.S. 3989 / 1970 and 1729 / 1964 including lead caulked joints and painting two coats to the exposed surface. (Painting to be paid seperately).	Each	2.00	803.00	1606.0
4	Supplying, fitting and fixing Closet seat of approved make with lid and C.P. hinges, rubber buffer and brass screws complete.	Each	1.00	485.00	485.0
5	Supplying, fitting and fixing 10 litre P.V.C. low-down cistern conforming to I.S. specification with P.V.C. fittings complete, C.I. brackets including two coats of painting to bracket etc.	Each	2.00	1015.00	2030.0
6	Supplying, fitting and fixing bib cock or stop cock. (a) (i) Chromium plated Bib Cock short body (b) 15 mm dia.	Each	3.00	539.00	1617.0
	Supplying, fitting and fixing bib cock or stop cock.  (a) (i) Chromium plated Stop Cock.  (b) 15 mm dia.	Each	3.00	674.00	2022.0
8	Taken out existing G.I. pipe up to 25 mm dia	m	10.00	6.00	60.0
9	Labour for fitting and fixing high density poly-ethylene pipes or P.V.C. pipes for above ground work including cost of jointing materials paints etc. fitting and fixing all necessary specials, cutting pipes, making threads, cutting holes in walls or R.C. floor where necessary and mending good all damages. 20 mm dia.	m	4.00	129.00	516.0
10	Labour for fitting and fixing high density poly-ethylene pipes or P.V.C. pipes for above ground work including cost of jointing materials paints etc. fitting and fixing all necessary 15 mm dia.	m	6.00	101.00	606.0
11	Supplying, fitting and fixing best quality Indian make mirror 5.5 mm thick with silvering as per I.S.I. specifications supported on fibre glass frame of any colour, frame size 550 mm X 400 mm	Each	2.00	367.00	734.0
12	Labour for taking out door and window frame including shutter for repair or replacement of different parts of the frame & refixing the same including mending good all damaes complete. (Concrete and brick work for mending damage will be paid separately)	Sqm	52.00	126.00	6552.0
13	Supplying, fitting and fixing fibre reinforced polymer (FRP) Composite door frame as per approved section with glass fibre reinforced plastic moulded skins and a special sandwich core, so as to impart monolitaheic composite structure as per approved technology of Department of Science and Technology (DST) to safisfy IS: 4020 door testing performance criteria	m	76.00	497.00	37772.0

Executive Engineer,
Directorate of Textiles (Sericulturte),
West Bengal

			/	-	
14	Supplying, fitting & fixing fibre reinforced polymer (FRP)	Sqm	28.00	2763.00	77364.00
	Composite door shutters as per approved design with glass	'			
i	fibre reinforced plastic moulded skins and a special sandwich				
	core, so as to impart monolitaheic composite structure as per				
	approved technology of Department of Science and				
		1			
	Technology (DST) to satisfy IS:4020 door testing				
	performance criteria.In ground floor. (i) 32 mm thick				8
	1				
15	S.F.and fixing Steel fly proof net to doors and windows with necessary	Sqm	65.00	1395.26	90692.00
	beads complete. 256 mesh per sq.cm 22 gauge.				
16	Dismantling artificial stone flooring upto 50 mm. thick by carefully chiselling	Sqm	138.00	50.00	6900.00
	without damaging the base and removing rubbish as directed within a lead	34	100.00	30.00	0300.00
	of 75 m.				
17	Artificial stone in floor, dado, staircase etc with cement	Sqm	120.00	328.00	39360.00
	concrete (1:2:4) with stone chips, laid in panels as directed				
	with topping made with ordinary or white cement (as				
	necessary) and marble dust in proportion (1:2) including				
- 1	1770				
_	smooth finishing and rounding off corners	C ====			
10	S.F and fixing 9 mm ply board for covering ventilators etc. Styles and rails of wooden shutters fitted and fixed complete.	Sqm	5.00	1290.00	6450.00
	(Payment to be made on area of new work only). In Ground	Sqm	1.75	1673.00	2928.00
	Floor:				
	PVC Door Shutter-30 mm thick:				
		Sqm	5.50	2127.00	11698.00
	Supplying fitting and fixing P.V.C. door shutter of approved				
	quality & shade in position, the style & rail of the P.V.C.				
	door shutter will be made of rigid P.V.C. multicavity hollow				
	chamber of 59 mm x30 mm section with 2.0 mm (+/-0.2 mm)				
	wall thickness.Horizontal & vertical section shall be fixed to				
	each other by self tapping screws and 1 solid polymeric or				
	M.S. galvanised tubular 'L' shaped bracket 100mm x 200mm	1 1			
	in each corner of the shutter frame for placing hinges.				
- 1	Polymer based multicavity hollow section				
	Iron butt hinges of approved quality fitted and fixed with steel	Ca ala	20.00	12.00	1000.00
	screws, with ISI mark. 100mmx50mm x 1.25 mm	Each	30.00	43.00	1290.00
	Iron butt hinges of approved quality fitted and fixed with steel				
	screws, with ISI mark. 75mm x 47mm x 1.7mm	Each	40.00	31.00	1240.00
23	i) Iron hasp bolt of approved quality fitted and fixed complete	Each	5.00	166.00	830.00
	(oxidised) with 16mm dia rod with centre bolt and round				
$\rightarrow$	fitting.300 mm long.				
24		Each	5.00	77.00	385.00
_	S.F. and fixing iron tower bolt 225 mm long				
	S.F. and fixing iron tower bolt 150 mm long	Each	20.00	63.00	1260.00
	Supplying, fitting & fixing 1st quality Ceramic tiles in walls and floors to	Sqm	36.00	738.00	26568.00
	match with the existing work & 4 nos. of key stones (10mm) fixed with			V 0 1017	
	araldite at the back of each tile & finishing the joints with white cement				
	mixed with colouring oxide if required to match the colour of tiles including				
	roughening of concrete surface, if necessary or by synthetic adhesive &				
	grout materials etc.				
	(1). In Wall				
	Supplying, fitting & fixing 1st quality Ceramic tiles in walls and floors to	Sqm	15.00	731.00	10965.00
	match with the existing work. In Floor		15.00	/31.00	10303.00
	Ordinary Cement concrete (mix 1:1.5:3) with graded stone	Sqm	1.60	6453.32	10325.00
- 1	chips (20 mm nominal size) excluding shuttering and	- ¬	1.00	0 455.52	10323.00
	reinforcement if any, in ground floor as per relevant IS codes. (i) Pakur		1		

0/66/3/18

Executive Engineer,
Directorate of Textiles (Sericulturte),

West Reputal

29 Hire and labour charges for shuttering with centering and necessary staging upto 4 m using approved stout props and	10593.00
necessary staging upto 4 m using approved stout props and	
thick hard wood planks of approved thickness with required	
bracing for concrete slabs, beams and columns, lintels curved	
or straight including fitting, fixing and striking out after	
completion of works (upto roof of ground floor)	
Reinforcement for reinforced concrete work in all sorts of kg 250.00 55.63	13907.00
structures including distribution bars, stirrups, binders etc	
initial straightening and removal of loose rust (if necessary),	
cutting to requisite length, hooking and bending to correct	
shape, placing in proper position and binding with 16 gauge	
black annealed wire at every intersection, complete as per	
drawing and direction.	
31 Supplying, fitting and fixing white vitreous china best quality approved Each 1.00 2208.00	2208.00
make wash basin with C.I. brackets on 75 mm X 75 mm wooden blocks, C.P.	
waste fittings of 32 mm dia., one approved quality brass C.P. pillar cock of	
15 mm dia., C.P. chain with rubber plug of 30 mm dia., approved quality	
P.V.C. waste pipe with C.P. nut 32 mm dia., 900 mm long approved quality	
P.V.C. connection pipe with heavy brass C.P. nut including mending good all	
damages	
32 Supplying, fitting and fixing approved brand 32 mm dia.P.V.C. waste Each 2.00 75.00	150.00
pipe,with PVC coupling at one end fitted with necessary clamps.	
	374013.00
	374013.00
Add. 12 % as GST (6% as SGST and 6 % SGST)	44882.00
	418895.00
Add. 1 % as Labour welfare cess	4189.00
	423084.00
Say <b>4,2</b>	23,084.00
Rupees Four lakhs twenty THREE thousand eighty four only.	

Executive Engineer

Directorate of Textiles ( Sericulture )

West Bengal